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QUINTIC PUTTING ANALYSIS

Name Paul Hurrion
Email info@quintic.com Date 02.12.19
Mass 80 kg Handicap 2 Height 176 cm

Summary
Example Putting Report - Average 6 Putts

KEY AND DIAGRAMS

Head i
Head '

Lead
Shoulder

Lead
Wrist

Posilive Ball Fosilicn
Ralative o Slarmum

Hegative Ball Position
Relative to Sternum

N.B. The above Markers are for Right Handed Golfers. For Left Handers, Trail and Lead will be reversed for the Shoulder, Elbow and Wrist
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POSITIONS

Top of -
Address SD Backswing SD Impact SD Finish SD
Shoulder Tilt (degrees) 9.09° 1.45° 2.58° 1.31° 9.40° 1.45° 24.04° 1.45°
Shaft Angle (degrees) -6.62° 0.44° -15.46° 0.47° -7.08° 0.38° 13.51° 1.62°
Lead Wrist Angle (degrees) 171.21° 0.38° 171.95° 0.32° 171.43° 0.28° 169.91° 0.29°
Elbow Distance (cm) 32.67 cm 0.91cm 32.86 cm 0.75cm 32.93cm 0.82 cm 32.15cm | 0.91cm
Ball Position Relative to 1.48cm | (For Reference, see Page 1)
Sternum (cm)
Address Top of Backswing Impact Finish Address - Impact Overlay
Afldress
9.09° 2.58°(9.40° 24.04°
32.67 cm 32.86 cm |32.93 cm 32.15cm
171.21° 171.95°|171.43° 169.91°
-6.62° -15.46° |-7.08° 13.51°

HEAD KINEMATICS

Sway SD Lift SD Positive
Lift
MNegative Positive
Head Displacement in the Backswing (cm) 0.76 0.21 -0.15 0.17 Sway : Sway
MNegative
Lift
Head Displacement in the Downswing (cm) -0.70 0.17 1.03 0.16
Head Displacement in the Throughswing (cm) 0.79 0.15 2.32 0.15
Head Displacement from Address to Impact (cm) 0.06 0.21 0.91 0.25
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PENDULUM MOTION OF STROKE

mme Address

=== |mpact

mme Address

=== |mpact

mme Address

=== |mpact

Shoulder / Club Elbow / Club Wrist / Club
Intersect Intersect Intersect
s = Path of the intersection over the duration of the putt
Intersect Angle (degrees):
Address SD Top of SD Impact SD Finish SD
Backswing
Shoulder / Club Intersect 74.29° 1.55° 71.95° 1.64° 73.51° 1.55° 79.42° 1.98°
Elbow / Club Intersect 76.60° 1.14° 74.41° 1.36° 75.70° 1.26° 80.70° 1.69°
Wrist / Club Intersect 87.41° 1.08° 85.90° 1.23° 86.42° 1.05° 90.86° 1.38°
. Shoulder Elbow Wrist
Difference between SD SD SD
Intersect Angle Intersect Angle Intersect Angle
Address and Top of BS (degrees) -2.33° 0.17° -2.18° 0.32° -1.51° 0.47°
Top of BS to Impact (degrees) 1.56° 0.25° 1.28° 0.26° 0.52° 0.23°
Impact and Finish (degrees) 5.90° 0.55° 5.01° 0.48° 4.44° 0.35°
Address and Impact (degrees) -0.77° 0.20° -0.90° 0.27° -0.99° 0.31°
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SHOULDER AND UPPER TRUNK KINEMATICS

When Club Head at Maximum Velocity: Lead Shoulder Velocity SD Trail Shoulder Velocity SD
In the Backswing 0.08 m/s 0.01 m/s 0.05 m/s 0.00 m/s
Percentage Attributable to each Shoulder 60 % 1% 40 % 1%
In the Downswing 0.22 m/s 0.00 m/s 0.10 m/s 0.00 m/s
Percentage Attributable to each Shoulder 68 % 1% 32% 1%
In the Throughswing 0.23 m/s 0.01 m/s 0.11 m/s 0.00 m/s
Percentage Attributable to each Shoulder 68 % 1% 32% 1%
Velocity [metres/second] wmwmw Trail Shoulder 1
== Lead 5houlder 1
_ 025 - mwm= Trail Shoulder 2
E o w— Lead Shoulder 2
g 020 === Trail Shoulder 3
—“é' 015 w— Lezd Shoulder 3
'E === Trail 5houlder 4
E 0.10 == | 2ad Shoulder 4
= wmwmu Trail 5houlder §
k= 0.057 = Lezd Shoulder §
= 0.00 === Trail Shoulder &
= | ead Shoulder &
-0.05 sunnn Trail Average
0.00 0.20 0.40 0.60 0.80 1.00 1.20 = Lead Average
Time Q Address O TopofBs LI Impact /\ Finish
Shoulder Tilt (degrees): SD
At Address 9.09° 1.45°
At Top of Backswing 2.58° 1.31°
At Impact 9.40° 1.45°
At Impact Relative to Address 0.31° 0.14°
Degree of Tilt in Backswing -6.51° 0.38°
Degree of Tilt in Downswing 6.82° 0.31°
Angular Displacement (deg) for [Herizental = Trail Shoulder = Lead Shoulder] —— Shoulder Tilt 1
== Shoulder Tilt 2
= Shoulder Tilt 3
= = Shoulder Tilt 4
=
= Shoulder Tilt 5
= Shoulder Tilt &
-5 — Ayerzgs
0.00 0.20 0.40 0.60 0.50 1.00 1.20
Time Q Address O TopofBs LI Impact 2\ Finish
Angle: Horizontal, Trail Shoulder, Lead Shoulder SD
Maximum Angular Velocity of Backswing (deg/s) 22.14 1.83
Maximum Angular Velocity of Throughswing (deg/s) 51.34 1.90
Ratio of Angular Velocity for BS compared to TS 1:2.32 (1:2=Doublethe Speed on the TS)
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TRUNK KINEMATICS
Sway SD Lift SD

in the Backswing (cm) -0.77 0.05 -0.21 0.07 Fﬂlf;;:*'ﬂ
in the Downswing (cm) 0.47 0.04 0.95 0.13
N;gaﬁ\re Positive
wal 5
in the Throughswing (cm) 1.33 0.16 1.98 0.21 Y b
from Address to Impact (cm) -0.30 0.07 0.75 0.07
ELBOW KINEMATICS
When Club Head at Maximum Velocity: Lead Elbow Velocity SD Trail Elbow Velocity SD
In the Backswing 0.12 m/s 0.01 m/s 0.12 m/s 0.01 m/s
Percentage Attributable to each Elbow 51% 1% 49 % 1%
In the Downswing 0.30 m/s 0.01 m/s 0.27 m/s 0.01 m/s
Percentage Attributable to each Elbow 53% 1% 47 % 1%
In the Throughswing 0.31m/s 0.01 m/s 0.29 m/s 0.02 m/s
Percentage Attributable to each Elbow 52 % 0% 48 % 0%
Velocity [metres/second] === Trail Elbow 1
= Lead Elbow 1
=== Trail Elbow 2
= | ead Elbow 2
§ wmwmw Trail Elbow 3
n = Lead Elbow 3
@ === Trail Elbow 4
E = Lead Elbow 4
E === Trail Elbow 5
%‘ | 2ad Elbow 5
% === Trail Elbow &
= | ead Elbow &
wannn Trail Average
0.00 0.20 0.40 0.60 0.80 1.00 120 T lemd Averaze
L= O Address OT{:p of BS I:I Impact ﬁFinish
Distance of Elbows Address SD Ba-l(-:?(EvSifng SD Impact SD Finish SD
Relative 32.67 0.91 32.86 0.75 32.93 0.82 32.15 0.91
Muiz\/w == Elbow Distance 1
335 “""""ﬁ-_"—"“_"—--..__ﬁ-'*—._'ﬁh"" == Elbow Distance 2
£ 3304
= = F|bow Distance 3
B 323
= = E|bow Distance 4
w2204
s i
115 - . I = E|bow Distance 5
gt = -E-G- 1 - B ﬁ B ™
31.D?>__..__f_-"'_ it - = Elbow Distance &
305 T T T T — T — AyEragE
0.0a 0.2a 0.4a 0.&0 0.g0 1.00 1.20
Time O Address OT{:p of BS I:I Impact ﬁFinish
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WRIST KINEMATICS

When Club Head at Maximum Velocity: Lead Wrist Velocity SD Trail Wrist Velocity SD
In the Backswing 0.24 m/s 0.01 m/s 0.21m/s 0.01 m/s
Percentage Attributable to each Wrist 53% 0% 47 % 0%
In the Downswing 0.56 m/s 0.01 m/s 0.50 m/s 0.01 m/s
Percentage Attributable to each Wrist 53% 0% 47 % 0%
In the Throughswing 0.60 m/s 0.03 m/s 0.54 m/s 0.02 m/s
Percentage Attributable to each Wrist 53% 0% 47 % 0%
Velocity [metres/second] mm= Trail Wrist 1
0.70 ; == Lead Wrist 1
_ i mmw Trail Wrist 2
= 0.60 e w— Lead Wrist 2
g 050 -7 — > === Trail Wrist 3
_"@'J 0.40 > 7 3 — Lead Wrist 3
= === Trail Wrist 4
i ow N e
= 02y %, X === Trail Wrist 5
2 010 e e Lead Wrist 5
[ . .
= mmw Trail Wrist &
nl — Lead Wrist &
-0.10 ssssn Trail Average
0.00 0.20 0.40 0.60 0.0 1.00 120 . |id Averses
Time <> Address OT{:p of BS I:I Impact ﬁFinish
; - ; Add sD U] sD sD Finish sD
Distance of Wrist Relative ress Backswing Impact Inis
to each other (cm) 12.15 0.08 11.59 0.15 12.10 0.08 13.18 0.16
13,50 4 — Wrist Distance 1
13.00 4 w= WWrist Distance 2
E -
o 126504 e, Wizt Distance 3
= .
,E: 12.00 = Wrist Distanca 4
|
= 11504 —— Wrist Distance 5
11.00 =— Wrist Distance &
10.50 T T T T T T — AyETIEE
0.00 0.20 0.40 0.e0 0.50 1.00 1.20
Time <> Address O topofBs LI Impact A\ Finish
Address SD Impact SD Difference
Lead Wrist Angle (degrees) 171.21° 0.38° 171.43° 0.28° 0.22°
Angular Displacement [deg) for [Club Head = Club Shaft = Lead Wrist] — Lead Wrist Anzle 1
: = Lead Wrist Angle 2
— — | ead Wrist Angle 3
@
E — | ead Wrist Angle 4
=
<L — | ead Wrist Angle &
— | ead Wrist Angle &
— AyErEge
0.00 020 0.40 0.60 0.50 1.00 120
Time { address (O Topofes IXImpact /A Finish
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CLUB KINEMATICS

Backswing SD Downswing SD Throughswing SD
Maximum Velocity of Club (m/s) 0.67 0.03 1.59 0.05 1.80 0.09
Location of Club at Max. Velocity (m) 0.18 (Positive = After Impact, Negative = Before Impact)

Velocity [metres/second]

= Club Head 1

= Club Head 2

m— Club Head 3

m— Club Head 4

\ \\\‘:\:\\\;" m C|ub Head 5

Walocity [ metresisecaond |

5% == Club Head 6

— AyErsge

0.0a 0.20 0.4a 0.a0 0.g0 1.00 1.20
Time <> Address OT{:p of B3 I:I Impact ﬁFinish
Backswing SD Downswing SD Throughswing SD
Path Length of Club Head (m) 0.24 0.01 0.22 0.01 0.55 0.05
Ratio of DS to TS (Length) 1:2.53 (Ratio1:1=DS and TS same length)
Tempo (Time): SD
Time of the Backswing (s) 0.50 0.01
Time of the Downswing (s) 0.27 0.01
Time of the Throughswing (s) 0.44 0.05
Ratio of BS to DS (Time) 1:0.54 (Ratio 1: 0.5 = DS is half the time of the BS)
Ratio of BS to DS + TS (Time) 1:1.41 (Ratio 1:1 =Same time BS as DS + TS)
Address D - of sD Impact sD Finish sD
ackswing
Shaft Angle (degrees) -6.62° 0.44° -15.46° 0.47° -7.08° 0.38° 13.51° 1.62°

Angular Displacement [deg) for [Vertical = Club Shaft = Club Head] R

== Shaft Angle 2

m— Shaft Angle 3

— Shaft Angle 4

Angle [deg|

— Shaft .l':'.I'I5|E 5

= Shaft Angle &

— AyErEEE

0.00 020 0.40 0.0 0.an 1.00 120
Time
Q Address O TopofBs LI Impact Z\ Finish
5 Frames Pre Impact 5 Frames Post Impact

Attack Angle / Rise Angle of Club (degrees) -0.03° \ 3.03° #
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ABOUT PLAYER
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